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ECONOMICS HITT | JAF T 2 3F A T
(Development of Indian Economy) 1. Give answer of the following questions :
WIS Steeea h farhra frafafea goa & s s .

Paper : MAEC-06
(i) What does a Gini coefficient of one mean ?
Time : 3 Hours | [ Maximum Marks : 80
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Note .— The question paper is divided into three Sections

A, B and C. Write answers as per the given (i) What is the concept of Ever Green
instructions.
feor .- ' yyA-1= ‘e, ‘9 SR ‘| diF wvel | fawfea 7 Revolution ?
AT PRI S % S A SERg S R g
Section-A 8x2=16

(Very Short Answer Type Questions) (iii) What is the meaning of Cottage Industries ?

Note .— Answer all questions. As per the nature of the FHIR SAUN w1 FA A T ?
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each (iv) Under which article is the Finance
question carries 2 marks. Commission constituted ?
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(v) What are conventional and nonconventional

sources of energy ?
Tl % WEREG TE -G g o § 2 8 &1 I ¥l
(vi) What is LPG Policy ? 2. Why is India regarded as demographic devidend ?

(vii) What is GATT ? 3. Explain the various effects of education on

MU F=E ?

(viii) Define Immigration.

AT ! gRenfoa wifsu )

Section-B 4x8=32

(Short Answer Type Questions)

agricultural structure.

FHT T W foen & fafa= gueEl & T S

. Explain the role of the capital account in the

balance of payments.

PIAH Teged | Yot @ i yfiet w1 =ren S|

Note .— Answer any four questions. Each answer should not . What is the current status of solar energy in India ?
exceed 200 words. Each question carries 8 marks. IRA § W) S w1 oA feafd @ 2
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6. Why decentralized planning required for a large

nation like India ? Explain.

. Explain the following :

(i) Average Capital-Output Ratio (ACOR)

(i1)) Incremental Capital-Output Ratio (ICOR)
frfafea =1 99y

() fwa Yei-saarg 19 (ACOR)

(i) Ffgefa S-S sHa@ (ICOR)

. Explain economic reforms related to liberalization.
ERIF | Fafed i Gl St e Hifag |

. Explain briefly land reform programmes in India.

IRA § 4fF GUR FEwAN w1 G e Hif |

MAEC-06/7 (5) TR—205 TurnOver

Section—-C 2x16=32
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 16 marks.
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10. Evaluate the Indian Food Policy and prepare a

blueprint for proper and progressive food policy.

IR @rE Aifq w1 geaned sifvy R sfea den
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11. How does globalization affect Indian economy ?
What is the role of WTO in economic and trade

development in India ?
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12. What is NITI Aayog ? How is it different from

Planning Commission ? What are the three aims

and seven pillars of NITI Aayog ?

ifq s = T ? U8 A A 9 feg R fa=
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13. Explain the Lewis Model of the unlimited supply

of Labour.
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